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. (C) Hormones

An enzyme present in 'E.colg' which
hydrolyses lactose into glucose and

galactose is :

{A) Ribozyme

(B) p-galactosidase
© a-galactdsidas‘e

(D) Insulin

. Who coined the term ‘centrosome’ for a

structure present at interphase near the

nucleus ?

(A) K. R Pone_r
(B) C. de Duve
(€) A. Claude
(D) T. Boveri |

Tay-Sach’s' disease, I-cell disease,_.
rhéurnatoid arthritis, Pompe’s dis‘ease,
Hurler syndrome etc, diseases in humans
aré caused by malfunctioning of : |
(A). Peroxisomes (B) Glyoxisomes

(D) Lysosomes
Who disqovereC_I the thread-like structures

which appeared duting cell division and .

called chromosomes ?
(A) Fortana - (B) T. Boveri

(C) E. Strasburger (D) Robert Brown

P.T.O.
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- (C) Receptor -

-

Acid is a proton donor and Base is a

proton acceptor. This theory is :

(A) Arrhenius Theory

(B) Bronsted-Lowry- Theory

(C) Sorensen Theory

(D) Britton-Robinson Theory

Death of a hurhan being occurs when his
blood pH is below.........ccvns

(A) 8.0 ‘ (B) 7.42

(€C) 7.25 (D) 7.0

Decision for cell division is made

during :
(A) G, phase (B) Gy phase
(C) S-phase (D) M-phase

Which of the following is not a part of
Britten-Davidson model for regulation of

gene expression ?
(A) Promotor B) Producer

(D) Sensor

During DNA replication both parental.

strands are separated by :
(A) DNA polymerase |
(B) DNA helicase

(C) DNA primase;

(D) Gyrase
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62.

The enzyme glucose-6-phosphatase is

present in. -

(A) Endoplasmic reticulum
(B) Lysosoﬁle.

(C) Mitochondria

(D) Nucleus

After phagocytosis of a pathogen, the -
resulting phagosome fuses with . the
lysosome to form which of the

following ?

" (A) Lysophagoson_le

(B) Phagolysosome |
(C) Membrane attack complex

(D) Proteasome

Which of-the following pathways is not

activated by complement system ? .

(A) Alternate  pathway involving_

. ‘

spontancous hydrolysis

(B) Classicall pathwﬁy ' inVolvihg
antigen-antibody ‘immune
complexes |

(C) Interferon pathway  involving
bindihg of IFN a/p to JAKI'and

- TYRKI receptors ' |
(D) Lectin pathway involving ‘léctin -

associated serine proteases

P.T.O.
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63. Which of the following statements is »not

64.

true regﬁrding Kappﬁ and Lambda light
chain genes ?
(A) Both are located on the same

chromosome. |

(B) Generates - complete light chain
gene from individual V and ]

segments.

- (C) Presence of two conserved regions.

nonamer and heptamer.

(D). Recombination of V region and

J region is done_.by enzyme

recombinase.
. !

Retroviruses are cz'i'p'able of causing

cancer because they . |

(A) produce a very high number of
progeny vifusés infected cells

(B) may carry cellular "~ tumour

suppressor gene in their genome

(C) often contain point mutations in

their pol gene

(D) may carry cellular protooncogenes

“in their genome
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65. Which of the following cancer causing

66.

07.

viruses contain RNA as its genetic

material 7 _

(A) Human Papilloma Virus (HPV)

(B) Hepatitis B Virus (HBV)

(C) Human T-cell Leukexﬁia Virus-I
(HTLV-I)

(D) Human Herpes Virus-8 (HHV-8)

Which of the following techniques
results in targeted gene alteration by
knockout, knockin, precise editing and

controlled’ expression 7

(A) Gene therapy

(B) CRISPR/Cas technique

(C) CAR-T cell therapy

(D) RNA interference

Virus free plants can be produced by

plant tissue culture. Which of the

following parts .of the plénts can be used

as explant to raise virus free plarits ?
(A) Sterﬂ

(B) Root

(C) Apical Meristem

(D) Hypocotyl
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70.

- (B)

™
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A clinician wants to determine the globat
gene expression profiling of cancerous

.and non-cancerous liver tissues. Which

of the following technique would’ be
most appropriate for this purpose ?

(A) ELISA

(B) Northern Blot

(C) DNA Microarray

(D) Southern blot

Which of the following is not a primary
immune deficiency disease ?

(A) Severe Combined Immune
Deficiency (SCID)
Acquired Immunodeficiency

Syndrome (AIDS)
Bare-Lymphocyte Syndrome (BLS)
Wiskott Aldrich Syndrome (WAS)

(©

Which of the following statements is
incorrect about T=cells ? _
(A) Interaction of T-cells with MHC I1
activates CDH* T-cells to produce
cytokines. ‘

Undifferentiated T-cells differentiate
int_o TH-1 and TH-2 cells.

(B)

TH-1 cells play role in macrophagé
- activation while TH-2 cells stimulate

©

B-cells for antibody productioh.

TH-1 and TH-2 cells do not activate

cell-mediated .and  antibody-

mediated responses, -
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In animals Nervous syster}1 is derived

from :

~(A) Ectoderm

(B) Mesoderm
(C) Endoderm
(D) All of the above

In plant tissue culture, what does the -

term organogenesis mean ?
Formation of callus culture

Formation of rodt and shoot from

(B)

callus culture

1

Genesis of plants

(C)
(D)

None of the above

Rotational cleavage is unique and’

different from other animals in :

(A Amphibians

(B) Protostomes
(C) Mammals
(D) Echinoderms

The correct sequence of process of
development = after fertilization and

cleavage is :

(A) Gastrulation-organogenesis-growth
(B) Organogenesis-gastrulation-growth
© Gastrulatioﬁ-blastul_ation—grth
(D) Organogenes.is - Morulatioﬁ -

blastulation

P.T.O.
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The portion of the Drosophila body plan

which will produce the wings is called :
{A) Telson

(B) Dorsal

(C) Abdomen

(D) Thorax .

The production of several effects by one

gene is called :

(A) Heterogenecity
(B) Pleiotropy

(C) Epistasis '

(D) All of the above

Neural crest cells taking the dorsolateral

route will b_ecomc; :

- (A) Dorsolateral route ganglion

(B) Sympathetic ganglion
(C) Adrenal Medulla
(D) Melanocytes

‘Name of the condition of the child’s

premature aging apparent by the child’s
first year : '

* (A) Autogeria

(B) Progeria
(C) Nuclear control of aéing
(D) None of the above

—
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79. Changes in the time and rate of the
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development for characters already

present in their ancestors is called :
(A) Neotony

(B) Ontogeny

(C) Phylogeny

(D) Heterochrony

A period of chilling which can enhance

the flowering signal is known as : © '~

(A) Photoperiodism
(B) Meristematic culture

(C) Vernalization

‘(D) None of the above

Which of the following Vitamins is water

»

soluble ?
(A) Vitamin-A
(B) Vitamin-D

(C) Vitamin-K

(D) Vitamin-B Complex

- P.T.O.
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Which of the following statements is not’

cotrect for carotenoids ?

(A) These are main accessory pigments. -

(B) These include orange carotene and-

" yellow xanthophylls.

(C) They absorb wavelengths of 550-
600 nm of light,

(D) They occur in fruits of tomato and

roots of carrot.

Which of the following statements is not

correct about photorespiration ?
(A) It is also known as C-2 cycle.

(B) Glycine is converted into serine.in

- chloroplast,

(C) This process ris completed in

chloroplast,  peroxisome  and

mitochondria.

.(D) The H,0, generated during this

process is destroyed by catalase

enzyme.

Ethy! alcohol is the end product of which

of the following processes ?

(A) Glycolysis

(B) Citric acid cycle

(C) TFermentation

(D) Glycolate cycle
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When organic acid is used as respiratory

" substrate the value of Respiratory

Quotient (RQ) is :

'(A)I One

(B) Less than one

(C) More than one

. (D) Zero

Which of the following is primary.
precursor of ethylene biosynthesis ?
(A) Tryptophan

(B) Mevalonic acid

* (C) Isopentenyl pyrophosphate

(D) Methionine

Which "of the f"oll‘owing pairs is not

correctly matched pair ?

(A) ‘Apical dominance - Auxins

(B) Bolting - Cytokinins
(C) Fruit ripening - Ethylene .l

(D) Delay of senscence - Cﬁokinins

P.T.O..
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Which of the following is nor true for

. phytochrome ?

(A)

It exists in two forms viz, Pr and

and PFr'
(B)
(®

It is a large dimeric protein.
It has low proportion of polar.

amino acid and water-insoluble.

D)
" . day plants.

P, form induces flowering in long--

Thé free running rhythms that appears to
be daily or diurnal are preferrably called
as : |
(A) Tidal rhythms

(B) Lunar rhythms

(C) Annual rhythms

(D) Circardian rhythms

‘Which of the following statements is #of
correct for terpenes ?
(A) They have defensive role in many

groups of plants.
(B) All terpenes”are biosynthesized
from tryptophan.
Pyrethrins are monoterpenoids.
(D) Terpenoids often accumulate in

resin canals, secretory cavities and

blisters.
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Choose the correct option :

(A) Plasma is .blood  without
lymphocytes

B) . Blood contains RBC, WBC, plasma '.
and platelets .

(C) Lymph contains plasma, RBC and

WBC
and

(D) Serum ~ contains  blood

‘ﬁbrinogen

Which of the following is known as the

natural pacemaker of,the heart ?
(A) Purkinje fibres

(B) Sinoatrial node

(C) Bundle of His .

(D) Atrioventricular node

The elastic cartilage that covers thé
opening of the Larynx during swallowing

is called :

" (A) Corniculate cartilage

(B) Epiglottis . .
(C) Cricoid cartilage

(D) Soft plate

P.T.O.
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94.

95,

96.

97.

The 3rd veritricle is the cavity of the :

(A) Mesencephalon
(B) Telencephalon
(9] Diencepha.lon
(D) Mylencephalon

Ora serrata is :

(A) present in ear -

(B) - a gland present in oral cavity
(C) oral cavity of protochordates

(D) a of

phot-osensi'tive region of the retina

part multilayered,

Anti Diuretic Hormone (ADH) controls :
(A) Sodium level

(B) Aldoste.rone secretion

(Q) Potassium level

(D) Any gain or loss in the amount of -

water

Which of the following hormone(s)
is/are necess'ary for the secretion of
Gastric juice ?

(A) Acetylchbline

(B) Histamin

(C) Gastrin

(D) All of the above
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98.

99.

100.

Which cells sécrete ‘Inhibin’ in hormonal

s

control of testicular function ? -

(A) Sustentacular cells

B) Spermato,;genic cells

(C) Anterib; pituitary

(D) Interstitial endo&ﬂnocyteé

Prostate cancer is caused by which
proteolytic.enzyme ?” ‘ |
(A) Prostaglandin

(B) ‘Acid phosphatase‘

(C) Prostate specific antigen

- (D) Interleukins

Which of the following components of
the innate immune system involves in the

releasé of Histamin ?

(A) Neutrophil

: (B) Eosinophil

(C) Mast cells and basophils

. (D) Natural killer cells’

P.T.G.
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(A) BB &R IOIC (B) IBIO iR IAB .
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101.

102.

103.

What is the expected genotypic ratio of

a dihybrid ‘cross in the F, generation ?
A 9:3:1- B) 3:1

© 1:2:1 D) 9:3:3:1

The phenonm(;,non of codominance is
observed through the ABO blood groupl
system with their genotypes IA, 1B and
I0. A child has blood group ‘A’ and the
mother has blood group *O’. Which may
be the possibIc.blood group genotypes of

the father ?
(A) IBIB and IOI0 (B) IBIO and IAIB

(C) A4 and IAIB (D) 1A1© and 1010

If two' genes are very close to each other
on the same chromosome, v»;hat is likely
to be true for their recombinati;m
freqﬁency ?

(A) It will be low

(B) It will be high

(C) 1t will be exactly 50%

(D) It will be 0%
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104:

-108.

106.

A test cross is used to gletermine :
: |

(A) Genotype of the F, plant and the
" degree of-linkage .

(B) Whether two traits are linked or not
in F, generation

©)
(D)

Number or set of alleles in a gene

Whether the two species will breed

successfully or not

Inheritance of  extrachromosomal

mitochondrié.l DNA is achieved :
(Aj Randomly

(B). Paternally

(C) Matemally '

(D) Bipaternally

The F-factor in a High Frequency

recombination (HFr) bacterial stain is of

which type ?
(A)‘ Fre;: in the cytoplasm
(B) Integrated into the bacterial . -
* chromosome
(C) Carried on plasmid separate from
chromosome
(D) Lost fror'r-l the bacterial genome

P.T.O.
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110.
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" (A) 47, XXY

Hgfa =1 et ?

(C) wfE FifvE Sfew el

FfREY THa F 8 GHA T 7
(B) 47, XXX

(C) 45, X (D) 46, XY

Tw WEEa ¥ yuEl Ged (A) @l
W’WWW(AA)ﬁ

(A) 0.09 (B) 0.49

©) 070 D) .0.21

Hees w T wfithar 33 % fag
TF B TR F ITET Bl § 2
(A) ®RW EfET

©) wirefE dfee fd=
(D) A-veF TWhd IRTH
(A)ﬂwmaﬂaﬁﬁmaﬂﬁaﬂq
((B) foaeifn wEmm s

(D) T-fefae emgEH
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107.
L (A) 47, XXY

108.

109,

110.

(©) 0.70.

What is the Karyotype notation for a

male with Klinefelter syn.drc_)me ?
(B) 47, XXX

(C) 45, X (D) 46, XY

In a population where the frequency of
the dominant allele (A) is 0.7, what .

would be the .frequency of the

homozygous  dominant  genotype

(AA) assuming the Hardy-Weinberg'

equilibrium 7.
(A) 0,09 (B) 0.49

(D) 0.21

Which bacterial * regulatory sysfem e

utilizes a dual system to sense and

respond to environmental stimuli ?
(A) Quorum §cnsiné . ‘
(B) SOS Response

(C) Arachidonic acid receptor

(D) 'Two—component signal transduction

Dolly sheep is an example of :

(A) Sex chromosomes genetic mutation
(B) Deleted chromosome cloning

(C) Somatic cell genetic cloning

(D) X-linked inheritance
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111 ﬁl@’f g ‘lﬁﬁﬁ [erstal ?I?JTF{-?JﬁT 111. }n situ biédegradatibn of contamil;a;ion
(371 fa), - T -AYE] TS YKH W . in soil by providing air or oxygl:n to-
st d ‘J{ﬁﬁ - Afaw Frefrvor TR éxisting soil mlcroorgamsm is :

(@A) E'Rﬁil‘@.'ﬂ@;wﬂ - (B) H@'E‘Fd‘ﬂ? (A) Biodegradation (B) Biosorption
©) a-rq‘rérhn (D) arqﬁfegﬁm (C) Bioventing " (D) Biostimulation

12, m?ﬁ@m%‘ﬂm ﬁ‘{@fﬂq (anylate)‘" .112. The biosensor that measures the reaction

* to amylate -with erizyme and generate _

electrons through a mediator or'directly -

is called......ooereiurireinn ..biosensor.

(A) Piezoelectric

. (By Amperiometric

113.

.;'Giv_e'n below is the diagramme of - .

" biosensor. Identify the * unnamed

component :
‘ ‘ * - ’ If

" | Biochemical . . T [
' reaction R -Amplifier
(signal) | ' I oo o

" Display - |e—. |Microprocessor },.

(A) Macroprocessor

: (B) Fllter

.*_'(C) Transducé; ’ ) -

' (3)SI12/202_¢|1-IA~ . - 19

'.(D) A/D convertor : * -

I”’;T'.O.!
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114.

115.

In case of Rust fungi, match the items of
column I and column Il and mark the

correct option :
Column 11

Column I
(1) Stage III (’:':1) -Aecidiospores
(2) Stage II . (b) Uredospores
(3) Stage IV (c) Teleutospores
(4) Stage I (d) Basidiospores
Options :

@) (1)), D), G)a), (@) °
B) (1)), @-b), BHA), @)a)
© (), )-©), ()0, @)-@)

- D) (@), @), BG)c), (-(d)

Which of the following statements about "~

marker assisted selection is true ?

(A) Marker assisted selection is only

applicable in plant Breeding

programmes.

(B) Marker assisted selection involves

" solely on tradition breeding methods
without involving DNA analysis.

(C). Marker assisted selection accelerates

by

manipulating an organism’s DNA.

direct

breeding process

(D) Marker assisted selection is a random

process that does not require specific

genetic marker,
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116.

117.

118.

faeea

e § Freien ¥ @ @ S
I T T2 '.

(A) SigfesT (B) =it

(C) &1 W (D) Tedersfes
aﬁfﬁl’ﬁ '*lTFT =a iZ'H .(Raf;‘izs rattus)
frem sa 2 2

(A) 2RFm- (B) wfm

(C) famiftm (D) afwfm
TEE B IeE AR e () B

T B WEE A, Few 1 AR wiem I
® IR W fAEM W e fawe
g2l /e 11
(1). S0 W= () T T g
(2) oK VEemEEA (b)) WeR T Hew.
TSR e : _
(3) & e (c) -wfemem
<H
4y wmwe
FenfafraT

(d) aa:m

A) (), @), 3)a), 4)-(b)
B) (1b), () B, @-(@)
©) (1)), ()-(b), (3)-(), )-(d)
@) (1)), (). B)-(b). (4)-(@)

116.

117.

118.

t
|
|
|

Which of the following is ot a bacterial

disease in human beings ?

(A) Botulism (B) Pneumonia

" (C)- Tuberculosis (D) Hepatitis'

Scientific name Ratfus rattus is an-
. r

example of :

(A)- Tautonym (B) Homonym-

(€C) Synonym (D), Basionym

‘In case of title of books and author/s

name, match the items in Column I and '

Column II and mark the correct option :

Column I Column II
* (1) Genera (a) Bentham and
Plantarum ' Hooker

. (3) The Families of (c)

(35/12/2024/A 21

(2) Die Natiirliclen (b) Engler and

Pﬂanzenfami]ier_l Prantl

Hutchinson
Flowering Plants -

@) Plant " (d) Benson

| Classification |

Options :

(&) ()-(e), @HD), (3)-(a), (4)-(b)

(B) (1)-b), (2)-(c), B3)-(d), (4)-(a)

© (W@, 2)-(b), 3)~c), (4)-(d)

D) (1)), @1e), B)-b), @)

P.T.O.
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119.

120.

121.

What is the theme of “World Migratory
Bird Day 2024” ?. |

(A) Protect Insects, Proteqt Birds

(B) Protect.Habitat, Protect Birds

(C) Protect Fruits, Protect Birds

(D) Protect Grains, Protect Birds

Phytotelmata is :

(A) A sand dune containing organisms.

(B) A huge pond containing organisms -
~only. _

(C) A huge pond containing only pIant.
‘species.

(D) Small bodies of water hela by

leaves or flowers or in tree holes

containing organisms.

Conservation aims to restore the balance

between :

(A) ﬁmans and Abiotic factors
(B) Humans and Physical factors
©) Humans and Environment

(D) Animals. and Plants

“f
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123

124,

!

122. Many bird sp'e'cies on islands with no

predating mammals have :

(A) Lost the reproduction ability
(B) Lost the ability to fly -
(C) Lost the ability to fight

(D) Lost the ability to colonize

Species richness of a community is not

influenced _by whigh of the following ?

(A) Age of the community

(B) Primary productivity

(C) Competitive ability of the organisms ‘
present

(D) Number of predators

The carbon-cycle is unusual nutrient

element cycle because :

.
(A) It need not involve decomposers
(B) It is energy intensive

(C) 1t is endothermic

(D) It is devoid of energy flow

P.T.O.



[

125. v Trem § gEfFesd @@ B €,
.m:

(A)Wﬁwm%'

(B) Tt g oo wgd §

(C) Sl 1 a9HM wedl §

(D)Wﬁﬁﬁ@?ﬁi;&mw-m
. .

126. S w1 fufre
(A)wﬂw#r’%’tm%
(B)@QT;-W@?IT%..

() S w& W I A T
(b)laqﬁat%ﬁm%

127. W& (1977) % f =1 fa=m &= .
(A) FroTT fred
(ﬁ).qﬁiﬁ&qﬁ&"ﬂ
(C) TwEfre fed

(D) =gt fea

(3)5/12/2024/A

24

126.

127,

125, Eutrophication in water bodies occurs

when :

(A) "I“he su?phur level increases

(B) The dissolved.oxygen increases
(C) The water temperature increases

(D) The phosphate and nitrate level

increases

Pyramid of cnergy :

(A) can never be invérted

(B) is aiways inverted

(C) can be inverted and ﬁpright both

(D) is unstable

- Grubb (1977) gave the idea of :

(A) Regeneration niche
(B) Rectification niche
(C) Hybrid niche

(D) Multidimensional niche

g}
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128.

The study of the ecology of - whole

‘communities of organisms is called : - °

(A) Autecology

(B) Synecology

129.

Succession is a hatural. charllge in the
_‘ structure and..........c.... of a community. _

(A) Fiora '

(.B) Fauna

130,

(C) Natural ecology

(D) Co-ecology

"(C) Species composition Er".

. (D) Microbes

‘CHIPKO’ movement is also known as :
(A) Movement for land 1-'e.forn;s

(B) Environmentaliém of the poor

(C) Movement for freedom

D) Movement for self-reliance

P.T.O. -
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According to spontaneous generation
theory....coererrierne : |
(A) Lilfe. sfarted from pre.-existing life .
(ﬁ) _lLifc;, can;e from other pla.t;et
(©) Life originated from 'non-_living
substances |

©

Life produced from self-replicating

metabolic capsule

Which is correct order of Eras ?

"(A) Coenozoic —> Archeozoic — Azoic

— Proterozoic —  Mesozoic —

Paleozoic

(B) Archeozoic — Paleozoic — Azoic
— Mesozoic > Pr‘otero'zoic
— Coenozoic

(C) Azoic —» Archeozoic — Proterozoic
— Paleozoic; - Mesozoic —

Coenozoic
(D) Paleozoic —».Coenozoic —» Azoic
— Proterozoic — Mesozoic —-

Archeozoic



134,

135.

133,

Wt Sfifoq wifved of .

(A) wEsiat

(B) Wreiieim

© g

(D) W

T % faEw w oWl wE e

(A) TS o dETE o
srdfidEy > e

(B) TfwdTE — seifedEy.
ﬁ_—ﬁﬂﬂr & P

(O T-REE o AhEmE

(D) seeifedms - e

TH-TERE — R

Freffefian % 3 frga s w4 am

oY S e ?

(A) Sy, ¥ Aferiere s ¥

. OfEd W R
(B) sgmer H W w W

(C) weifr = = & v #
(D) foerr- § o W W

(3)5/12/2024/A

Y

133. The primary living cells were :

PO T,

.(A) Symbionts

(B) Chemoautotrophs

. (C) Autotrophs

134.

(D) Chemoheterotrophs

The correct order of man’s evolution is :

(A) Ramapithecus — Homo-erectus —

Australopithecus — Homo-sapiens -

(B) Ramapithecus — Australopithecus

— Homo-erectus — Homosapiens

(C) Homo-erectus — Ramapithecus —

Australopithecus — Homo-sapiens

. D) Australoplthecus - Ramaplthecus

135.

— Homio- erectus —> Hcgmo saplens

Which one of the following is measured
by moleculal.' clock ?
(A) Rate of changes in nucleotide

sequences in DNA

Rate of changes in adaptation

B)

. v
‘o

Rate of changes in species

(©)

composition

!

D)

Rate of changes in variation

P.T.O...
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136.

Genetic divergence is known as :
(A) Macroevolution

(B) Variation

" (C) Adaptation

137.

138.

139.

(D) Microevolution

The species - evolved

together in response to each other is

called :

" interacting

(A) Parasitism (B) Symbiosis

© Co-adgptation (D) Co-evolution

Animals are active at sunrise and sunset

time, such animals are called :
(A) Necturnal

(B) Diurnal

(C) Crepuscular

(D) None of the above

In dishonest signals communications :
(A) Both sender and receiver are -
harmed |
(B) Both sender and receiver are
benefited '

©

Sender is benefited and receiver

may be harmed or stays neutral

Sender is harmed and receiver is

benefited

(D)
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140. Both parents male and female are

141.

’

involved in care of young :
(A)_ Gibbons (B) Tamarins

(C) Marmosets (D) All of these

If several different samplc;s of DNA are
meIted; it is found the melting
temperatu}e iTm) is highest for those

DNA molecules-that contain the highest

" proportion of :

- 142,

(A) Cﬁosine and Guanine

" (B) Adenine and Guanine

(C) Thymine and Adenine
(D) Cytosine and Thymine
A number of restriction enzymes that
recognize different target sequences, but

produce the same staggered ends or

ovefhangs are known as :
(A) Isoschizomers

(B) Isozymes

(C) Ribozymes

(D) Zymogens

P.T.O.
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143. Imaging specimens that are too big to be

-

imaged using other microscope based .
imaging methods e.g. vertebrate embryos,

can be achieved by :

(A) Multiple-Photon Microscopy

. (B) Optical Projection Tomography

(C)’ Spinning-Disc Confocal Microscope
(D) Laser-Scanning Confocal

Microscope

144. The extension of Analysis of Variance

(ANOVA) which includes the covariance

of ﬂ1e putcoine of the univariate ANOVA

~ .

is':

(A) ANCOVA
(B). MANOVA
(C) Post hoc test

D) . Fisher’s exact test
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145,

146.

The l;lcthod that can sequence a sirigle'
DNA molecule without the need: for ;n
intervening PCR  ampilification - or
chemical labelling step, or the need for
optical instrumentation to ideﬂtiij( the
chemical label apd have potential for
high throughput, Iow-‘cos't_ sequencing is :
(A) Next generation sequencing

(B) Nanopore sequencing

(C) Sanger séquenci_ng

(D) Third-generatiqn sequencing

Very pure polyc.l’onal antibodies can ble
produced in rats and mice in : .

(A) Lymphatic fluid

(B) Synovial fluid

"(C) Cerebrospinal fluid

(D) Ascitic fluid

P.T.O.
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-148.

Immunosorbent Electron Microscopy
(ISEM) is a diagnostic technique for

visualizing virus particles by using virus-

specific antibodies conjugated to :
(A) Gold particles l

(B) Silver particles

(C) Platinum particles

(D) Chromium particles

Sociometric matrix sampling in study ‘
of behaviour is used for studying

interactions between :
(A) Mated pairs

(B) Parent and young

- (C) Individuals

(D) Prey and Predators

149.

150.
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Magnetic Resonance Imaging (MRI)
works very well in routine clinical
imaging of -large volume soft tissues,

becauée of abundance of :
(A) Protons
(C) Salts

(B) Ions

(D) Bile

In radioactive decay, a neutron is
convertéd to a proton by the ejection of :
(B) o-Particles
(D) y-Rays

(A) Positron
(C) Negatron
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